## **Chapter Griffiths's inequalities**

Let  $\lambda$  denote the uniform distribution on the product space  $\Omega = \{-1, +1\}^S$ , for some finite set S. For each subset a of S define  $\phi_a(\omega) = \phi_a(\omega_a) = \prod_{i \in a} \omega_i$ . When a is the empty set, the corresponding  $\phi_a$  is identically 1. Note that  $\phi_a(\omega)\phi_b(\omega) = \phi_{a\Delta b}(\omega)$ , where  $a\Delta b$  denotes the symmetric difference of a and b.

Let  $\mathbb{F}$  denote the set of all nonempty subsets of S. For each t in  $\mathbb{R}^{\mathbb{F}}$  define

$$H(\omega,t) = \sum_{a \in \mathbb{F}} t_a \phi_a(\omega).$$

Define probability measures  $\mathbb{P}_t$ , for  $t \in \mathbb{R}^{\mathbb{F}}$ , by

$$\frac{d\mathbb{P}_t}{d\lambda} = \frac{\exp\left(H(\omega, t)\right)}{M(t)} \quad \text{where } M(t) := \lambda \exp\left(H(\omega, t)\right)$$

Recall (see Pollard 2001, Problem C.2, for example) that the function  $L(t) = \log M(t)$  is convex, with

$$\frac{\partial}{\partial t_a} L(t) = \mathbb{P}_t \phi_a(\omega)$$
$$\frac{\partial^2}{\partial t_b \partial t_a} L(t) = \operatorname{cov}_t(\phi_a, \phi_b) = \mathbb{P}_t \left( \phi_a(\omega) \phi_b(\omega) \right) - \mathbb{P}_t \phi_a(\omega) \mathbb{P} \phi_b(\omega)$$

Consequently,  $\partial \mathbb{P}_t \phi_a / \partial t_b = \operatorname{cov}_t(\phi_a, \phi_b)$ .

<1> **Theorem.** If  $t_a \ge 0$  for all  $a \in \mathbb{F}$  then

(i)  $\mathbb{P}_t \phi_a \ge 0$  for all  $a \in \mathbb{F}$ (ii) for all  $a, b \in \mathbb{F}$ ,  $\frac{\partial}{\partial t_b} \mathbb{P}_t \phi_a = \operatorname{cov}_t(\phi_a, \phi_b) \ge 0$ 

*Proof.* For all sets of integers  $\{k_a : a \in \mathbb{F}\}$ , note that

$$\prod_{a \in \mathbb{F}} \phi_a(\omega_a)^{k_a} = \lambda \prod_{i \in S} \omega_i^{\ell_i} = \begin{cases} 1 & \text{if } \ell_i \text{ is even for all } i \\ 0 & \text{otherwise} \end{cases}$$

<2>

where  $\ell_i = \sum_a \{i \in a\} k_a$ . For (i), note that

λ

i), note that

$$M(t)\mathbb{P}_t\phi_a = \sum_{n=0}^{\infty} \lambda\phi_a(\omega) \frac{H(\omega, t)^n}{n!}$$

The *n*th summand expands to a sum of terms like

$$\frac{n!}{\prod_{b\in\mathbb{F}}k_b!}\lambda\phi_a\prod_{b\in\mathbb{F}}t_b^{k_b}\phi_b(\omega)^{k_b}$$

where the  $k_b$  are nonnegative integers summing to *n*. By <2>, each such summand is nonnegative if all  $t_b$  are nonnegative.

27 March 2006 Stat 606, version: 26mar06 © David Pollard

For (ii), first note that, for every function f on  $\Omega \times \Omega$ ,

$$\lambda^{\omega}\lambda^{\omega'}f(\omega,\omega') = \lambda^{\omega}\lambda^{\omega'}f(\omega,\widetilde{\omega})$$
 where  $\widetilde{\omega}_i := \omega_i\omega'_i$  for each  $i$ 

because  $\widetilde{\omega}$  is uniformly distributed on  $\Omega$  independently of  $\omega$  under  $\lambda \otimes \lambda$ . Note also that  $\phi_d(\widetilde{\omega}) = \phi_d(\omega)\phi_d(\omega')$  for all  $d \in \mathbb{F}$ . Thus

$$\begin{split} M(t)^{2} \operatorname{cov}_{t}(\phi_{a}, \phi_{b}) \\ &= \lambda^{\omega} \lambda^{\omega'} \left( \phi_{a}(\omega) \phi_{b}(\omega) - \phi_{a}(\omega) \phi_{b}(\widetilde{\omega}) \right) \exp \left( H(\omega, t) + H(\widetilde{\omega}, t) \right) \\ &= \lambda^{\omega} \lambda^{\omega'} \phi_{a}(\omega) \phi_{b}(\omega) [1 - \phi_{b}(\omega')] \exp \left( \sum_{d \in \mathbb{F}} t_{d} \phi_{d}(\omega) [1 + \phi_{d}(\omega')] \right) \\ &= \lambda^{\omega'} [1 - \phi_{b}(\omega')] \lambda^{\omega} \phi_{a\Delta b}(\omega) \exp \left( H(\omega, \tilde{t}) \right) \quad \text{where } \tilde{t}_{d} = t_{d} [1 + \phi_{d}(\omega')]. \end{split}$$

Note that  $1 \pm \phi_d(\omega') \ge 0$  for all *d* and all  $\omega'$ . The assertion of part (i), applied with  $\tilde{t}$  replacing *t* shows that

$$\lambda^{\omega}\phi_{a\Delta b}(\omega)\exp(H(\omega,\tilde{t})\geq 0)$$
 for all  $\omega'$ .

 $\Box$  Assertion (ii) follows.

## 1. Notes

2

The inequalities are originally due to Griffiths (1967). The proof comes from Ginibre (1969) via the exposition of Liggett (1985, Section IV.1).

## References

- Ginibre, J. (1969), 'Simple proof and generalizations of Griffiths' second inequality', *Physical Review Letters* 23, 828–830.
- Griffiths, R. B. (1967), 'Correlations in Ising ferromagnets', *Journal of Mathematical Physics* 8, 478–489. [Actually two papers: part I and part II, subtitled 'external magnetic fields'].
- Liggett, T. M. (1985), Interacting Particle Systems, Vol. 276 of Grundlehren der mathematischen Wissenschaften, Springer-Verlag.
- Pollard, D. (2001), A User's Guide to Measure Theoretic Probability, Cambridge University Press.